90 110

/

WILSAS HOLVUINID-HILUVLS J1¥1I313

*198U0D
wonoq 0, ‘HLON

'sq1 ‘M 02
03 ua sy ‘AION

\ Wy

)

N

*SU01103UUND [BOTII09[D
Supjewr vaym TeELUTUIS]
punoId 309uucISIp sAemiv I LON

Download from Www.Somanuals.com. All Manuals Search And Download.

32



ELECTRIC STARTER-GENERATOR SYSTEM

‘——Ovder by Part Number

Reference

Letter Part No. Desecription
A 122041 Motor -Generator
B 122042 Cable, Switch to Generator
C 122023 Cover, Terminal
D 122043 Wire
E 122060 36 Belt, "V"
F 154253 Support Assembly
G 720001 Washer, Lock, 5/16"
H 705017 Screw, Cap, Hex., 5/16" - 18 N.C, x 3/4" Ig.
J - 720001 Washer, Lock, 5/16"
K 717001 Nut, Full, Hex., 5/16" - 18 N.C.
L 705019 Screw, Cap, Hex., 5/18" - 18 N.C. x 1-1/4" lg.
M G-A117 Clamp, Cable
N 122059 Lining, Clamp
P 122024 Clip, Cable y
Q 122025 Lining, Clip
R 122044 Regulator, Voltage
S 154002 Bracket, Voltage Regulator
T 705002 Screw, Cap, Hex., 1/4" - 20 N.C. x 1/2" lg.
U 720003 Washer, Lock, 1/4"
\'2 717005 Nut, Hex., Full, 1/4" - 20 N. C,
w 154001 - Tightener, Belt :
X 705017- Screw, Cap, Hex., 5/16" - 18 N. C. x 3/4" 1g.
Y 719002 Washer, Plain, 5/16"
Z 720001 Washer, Lock, 5/16"
AA 717001 Nut, Hex., Full, 5/16" - 18 N.C,
AB 154254 Pulley, Engine
AC 154292 Nut, Lock
AD 122001 Battery, 12 Volts, 20 Amps, Small Size
AE 122045 Cable
AF 122065 Cover, Cable
AG 122023 Cover, Terminal
AH 705015 Screw, Cap, Hex., 1/4" - 20 N, C. x 5/8" lg.
AJ 720003 Washer, Lock, 1/4"
AK 717005 Nut, Hex,, Full, 1/4" - 20 N.C.
AL 154313 . Gasket, Tank
AM 701013 - Bolt, Mach., 1/4" - 20 N. C. x 7-3/4" lg.
AN 717513 Nut, Lock, Full, Hex., 1/4" - 20 N. C.
AP 122046 Switch, Starting
AQ 122047 Wire, Starting Switch to Regulator
AR 720002 Washer, Lock, 3/8"
AS 717003 Nut, Hex., Full, 3/8" - 16 N.C.
AT 705015 . Screw, Cap, Hex., 1/4" - 20 N.C. x 1/2" 1g.
AU 720003 Washer, Lock, 1/4"
AV 717005 Nut, Hex., Full, 1/4" - 20 N, C.
AW - 719006 Washer, Plain, 1/4"
AX 719002 Washer, Plain, 5/16"
AY 122048 Switch, Ignition, w/keys :
AZ 122049 Wire, Switch goe > ¢ PomT Bex wnder MoTor.

NOTE: Starter-Generator, voltage regulator, and
starter switch are products of Delco-Remy and are
serviced by authorized Delco-Remy dealers. Cor-
respondence regarding battery must be addressed
to the battery manufacturer and not to Simplicity
Manufacturing Company.

Download from Www.Somanuals.com. All Manuals Search And Download. 33



Free Manuals Download Website
http://myh66.com
http://usermanuals.us

http://www.somanuals.com

http://www.4manuals.cc

http://www.manual-lib.com

http://www.404manual.com

http://www.luxmanual.com

http://aubethermostatmanual.com

Golf course search by state

http://golfingnear.com

Email search by domain

http://emailbydomain.com

Auto manuals search

http://auto.somanuals.com

TV manuals search

http://tv.somanuals.com



http://myh66.com/
http://usermanuals.us/
http://www.somanuals.com/
http://www.4manuals.cc/
http://www.manual-lib.com/
http://www.404manual.com/
http://www.luxmanual.com/
http://aubethermostatmanual.com/
http://www.golfingnear.com/
http://emailbydomain.com/
http://auto.somanuals.com/
http://tv.somanuals.com/



